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Similarity and Congruency
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CONDITIONS FOR TRIANGLES TO BE SIMILAR
PISTl o §HET B o Tidery
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CONDITIONS FOR TRIANGLES TO BE CONGRUENT
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Three Sides Equal- (SSS)
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Two Sides & Their Included Angles Equal- (SAS)
31 YSITG 37K 3%k off=l 1 10T GHH &
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Two Angles & One Side Equal-(ASA)
31 30T ST T YSIT §1H ©
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Thales Theorem: (@FHEI’Q’J)
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MID POINT THEOREM-HEJ iél-oa T
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The areas of similar triangles are proportional to the squares of
corresponding sides.
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APB is a right triangle with £ P =90°. PN is perpendicular, drawn from P, to the
hypotenuse AB. Then,

APB, £ P = 90 ° o |1 Tk GHITT (39S 8| PN Tielerd &, P € ©i= T8, S0l AB W
.

(i) PN*=AN.NB
(ii)) AP* = AN . AB
(iii) BP? = BN . BA
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Que 1- In the given figure, ABC and CEF are two triangles where BA 1s parallel to CE, and
AF : AC=5:8. Find AD, 1f CE =6 cm.

3T feq e forr ©, ABC 31N CEF a1 39S 8 Stei BA, CE % @/l €, 3fTAF : AC=5: 8¢ |
Fd CE = 6 941 8, AD 1 JTd 152
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Que 2- AQ and PB are perpendiculars to AB. If AQ =14 cm, PB =3.5 cm and AO =6 cm.
Calculate OP. ?

( Approx.)
32T AQ 3R PB, AB W © | I AQ = 14 THT, PB = 3.5 9T, 3 AO = 6 GHY. § | OP &t

U ShifST?

A. 3
B. 4
C. 1.5
D. 1.8
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Que 3- Ex: In a triangle ABC, D and E are the points on the sides AB and AC such that ZB
=75 £C=65°. It DE/BC = 2/3, £DEC = 105° and AE = 10 cm; Find the length of AB.
34T: Teh P11 ABC |, D 3T E 95T AB 3{RAC R UB feig @ fh £ B=75°, £ C=65"2afc D
E/BC=2/3, ZDEC = 105° 3T AE = 10 941 & dI AB =l 919 1 shifeTT |

A. 10
B. 15
C. 20
D. 25
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Que 4- In a triangle ABC, D and E are the points on the sides AB and AC such that ZB =
75°,£C =65 If DE/BC =2/3, £ZDEC = 105 and AE = 10 cm; Find the length of AB.
34T: Teh P11 ABC |, D 3T E 95T AB 3{RAC R UB feig @ fh £ B=75°, £ C=65"2afc D
E/BC=2/3, ZDEC = 105° 3T AE = 10 941 & dI AB =l 919 1 shifeTT |

A. 10
B. 15
C. 20
D. 25
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Que 5- AB and DE are perpendiculars to BC. [f AB=9cm DE=3 cmand AC=24 cm .
Calculate AD ?

AB 3T DE, BC W 2| If¢ AB = 9 9t DE = 3 9HT 31T AC = 24 9, AD <l TT0ET Y ?

A. 24
B. &
C. 16
D. 20



TARGET MATHS- 25/25



Thanks For

WATCHING

Sbscrlbe' L




